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O & H: 20205108240 LFEH

O &SIkl :14:30 O=i5  FHMEELHKES
OHMEMTHZ :16:47 OXfx: 5
F—L%& (888)| 1Q 2Q 3Q 4Q TOTAL B &
FEEFRKRF(S) 7 7 3 14 31 1B%08%
2R K2 (F) 0 3 0 8 11 0fi% 188

FREiA
F—L Q EM  PLAY PLAYER(S) ¥—K TFP PLAYER(S) G/NG
izl 1| 4:51 RUN | #1 K 5 K | #13;/&H G
f& Al 2 | 0:05 FG | #14 &K 22
izl 2 | 10:13 | RUN | #1 3¢ 65 K | #13;/&H G
[ii):) 3| 1:08 FG | #13:&H 39
[ii):) 4 | 0:08 | RUN | #13#& 11 K | #13;&H G
12 [l 4 | 7:42 | PASS | #19 B K 50 R | #14@XK G
ik 4 | 11:29 | RUN | #13# 22 K | #13FH G
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1.97—RME OV E# (5> —/ 2 —&Al) 12(10—1—1) 15(6—7—2)
2.8 AE- -2 —tTh 11—3—0 32—17—0
w@v—K |  sovds|  201vds

3oV E#—EFVY—F 35—297Yds 33—25Yds
4 E E#H-EFIV—F 46—327Yds 65—226Yds
5.5 Al [E] % — SR Vv —F 7—55Yds 4—10Yds
6.77>7IL [E] % — $& 1—1 1—0
7.74—LEd—)L [E] %% — B2 1—1 1—1
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PR PP | K5

PASS
= | & & | BB | ¥—F [ TD|INT
1 |ER &= 11 3 300 0of o0
RUSH INTERCEPTION
= | & m#% | v—F | TD FS | & [# | Y—FK | TD
14 |98 k5 6 37 0
1 | ZEx 12 141 4
32 |B%H iLiE 11 75 0
29 |fFEE 1EER 3 34 0
8 [ EE 2 14 0
12 |8l ¥E9R 1 A4 0
QB SACK
RECEIVE HS | &m0 [ | v—F
Eacl BT m#% | v—F | TD 51 |B M 12
4 JNFH X 1 90 |R®R & 8
18 | kR EBXER 1 24 |FIR Kl 7
80 [#h EESP 1 20
BRI
PASS
= | 4w S | B | ¥—F | TD|INT
12 Ik &=E 32 17 201 1| 0O
RUSH INTERCEPTION
= | 4w m#% | v—F | TD HES | &m0 E#% | v—FK | TD
45 (@R FHiE 7 0
1 |ZH Bt 5 0
12 Ik &=/E 15  A27 0
10 |Bd #E 5 25 0
33 |FEE s 2 1 0
3 [RBER EE 1 11 0
RECEIVE QB SACK
Eacl BT m#% | v—F | TD Eacl BT [ | vY—F
19 |BAk &K 5 99 1
1 |BH Bt 3 Al 0
WE KT 4 28 0
HE & 2 18 0
BIR  HEFE 1 23 0
18 |#hEE EBEARW 1 6 0
33 |fFEE s 1 28 0




